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® FRMC PLC#:1, RS232 #£10, 1EWC LAN $10. RS485 #11. USB #1.



. EEFEES

BIFT B =ik SRAE

g CS9929DSI-8
MizE=( AC/DC/IR
SBE 0.100kV ~ 10.00kV
Y +(1%+0.2%HEFE)
DHER %
BRABIHINER 200VA (10.00kV/20mA)
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EE_FFHAE 0, 0.35s~999.9s O0=HE FFEFERX
MizAa) 0, 0.35~999.9s 0=ELEM,
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ERARIHINE 100W (10.00kV/10mA)
BRAEUERI 10mA
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BURFE <5%
HREERTIE] <200ms
=P NN 10mA
B AT 0, 0.3~999.9s O=F3[E EFHAFEIR
MiztATIE] 0, 0.3~999.9s 0=i&LEUh
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1) 0.0~999.9s WEEIEEPS
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50000MQ

49999MQ

1MQ

0, 0.35~999.9s O=H3/% EFATE:R

0, 0.35s~999.9s O=iZE&EM

0.0s ~999.9s 0=/EIFRATEIR
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<200ms
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0.100kV ~ 10.00kV

+(1%+0.2%HEFE)
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WSHRE

0 ~ 20mA

0 ~ 10mA

200uA &: 0.1uA, 2mA &§: TuA, 20mA &4: 10uA

2uA14: 0.001TuA, 20uA#4: 0.01TuA, 200uA#Y: 0.1uA,
2mA &4 1TuA, 10mA £: 10uA

+(1%+0.5% RS RFD)
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FLOAT #&={: RETURN imAHE 75

1MQ ~ 50000MQ

TMQ ~9.999MQ:0.001MQ,10MQ ~ 99.99M:0.01MQ,
100MQ ~999.9MQ:0.1MQ,1000MQ ~ 9999MQ: TMQ
10000MQ ~ 50000MQ:10MQ

0.100kV ~0.300kV: 1.000MQ ~999.9MQ +
0.301kV ~0.500kV: 1.000MQ ~999.9MQ +
1.000GQ2 ~ 5.00GQ) +
0.501kV ~1.500kV: 1.000MQ ~999.9MQ +
1.000GQ2 ~9.999GQ *
10.00GQ2 ~ 50.00GQ *
1.501kV ~ 5.000kV: 5.000MQ ~999.9MQ
1.000GQ ~ 50.00GQ *
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(5%+2 =),

(10%+2 NF),

(5%+2 =),
(10%+2 PN=F),
(15%+2 PN=F),
(5%+2 =),
(10%+2 =),

0~999.9s

0.1s

t (0.1%+50ms)




